Tooling by DIJET.

(E=D2JTFVVUIIE)

MRS
WEQUMRE 00 924
OSVTRUME e 924
BYMRILNRIE e 925
VLAV e 925
DIVIRIUI—FHE e 926
DARRIVROUI—FRHE s 926
OSVTRDUL—EE e 926
LYFE e 926
OUELEHRAUMRIE e 927
MLOATRFELEDHRUMRE s 927
OSVTRYNEE 00 e 927
OSVTRE e 928
OSVTOYIp—R G e 928
Wik - IR E RS —BR Grty) 929
WEEMHESHRR 930
WSIBffRExR 0 e 932
WEsRE 0 933
BISHOTSYRREBER 934
I
B
&
I

973



Tooling by DIJET =-U>52Fuvoo®

BT

r

AR UHME
B R® B & I = LT
A B c D a
ASW-113 48 |No.10-32UNF| 127 | 48 — AD-1845
A"ﬁ 1: 5 lml o
o3l ADS-513 78 | M5x05 | 130 | 50 — AD-2080
ADS-514 5.6 M5x0.5 | 145 | 65 — AD-2080
‘ %@j ASW-513 9.0 M5x0.5 | 13.0 | 50 — AD-1845
9527 TRUKB
s ) W o= R RS4T |#ENLY
A B C D @’ H4Z | (N'm)
< 4
@‘* E‘ CB3540 90 | M35x06 | 63 | 23 — T-15 2.1
CSW-1838 27 | M1.8x035 | 37 | 18 55 T-6 0.25
CSW-206 35 | M25x045 | 50 | 24 55 T8 0.9
CSW-2542 30 | M25x045 | 42 | 25 43 T7 0.9
CSW-2547 34 | M25x045 | 47 | 25 43 T7 0.9
CSW-3570 55 | M35x06 | 70 | 35 55 T-15 2.1
@Bj CSW-3575 55 | M35x0.6 | 75 35 55 T-15 2.1
P CSW-3595 55 | M35x06 | 95 | 35 55 | T-15 2.1
eDJC CSW-406H 5.0 M4x0.7 | 60 | 36 43 T-15 3.6
CSW-407 5.0 M4x0.7 | 70 | 36 43 T-15 3.6
CSW-408H 5.0 M4x0.7 80 | 36 43 T-15 3.6
CSW-4510 6.6 | M45x0.75 | 100 | 4.0 57 T-20 5.0
CSW-510 6.4 M5x0.8 | 11.0 | 45 43 T-20 5.5
CSW-515 7.0 M5x0.8 | 150 | 50 63 T-20 5.5
DSW-1838H | 25 | M1.8x0.35 | 38 | 20 55 T-6 0.4
DSW-2045H | 3.0 M2x0.4 45 | 23 55 T7 0.5
DSW-2563H | 345 | M25x045 | 63 | 26 55 T8 0.9
DSW-306H 43 M3x0.5 65 | 32 55 T-10 1.8
DSW-307 43 M3x0.5 75 | 28 55 T-10 1.4
DSW-307H 43 M3x0.5 76 | 32 55 T-10 1.8
DSW-309H 43 M3x0.5 90 | 32 55 T-10 1.8
@ s D) | oswams | s2 | wmaxo7 | 75 | 35 5 | T15 | 36
7 5 DSW-408 6.0 M4x0.7 85 | 36 55 T-15 3.6
c DSW-4085 5.3 M4x0.7 85 | 35 55 T-15 3.6
DSW-410H 5.3 M4x0.7 | 100 | 37 55 T-15 3.6
DSW-4510H | 6.8 | M45x0.75 | 100 | 47 55 T-20 6.0
DSW-4512H | 6.8 | M45x0.75 | 125 | 52 55 T-20 6.0
DSW-4515H | 6.8 | M45x0.75 | 155 | 52 55 T-20 6.0
DSW-509 7.0 M5x0.8 | 95 | 49 55 T-20 6.1
DSW-511H 7.0 M5x0.8 | 115 | 49 55 T-20 6.1
ESW-205 36 | M25x045 | 55 | 20 60 T-8 0.9
ESW-206 36 | M25x045 | 60 | 20 60 T8 0.9
ESW-304 4.0 M3x0.5 45 | 20 55 T8 14
ESW-306 4.0 M3x0.5 60 | 20 55 T8 1.4
ESW-307 4.0 M3x0.5 75 | 20 55 T8 1.4
ESW-405 5.3 M4x0.7 | 59 | 27 55 T-15 3.1
ESW-406 5.3 M4x0.7 | 66 | 27 55 T-15 3.1
ESW-408 5.3 M4x0.7 80 | 27 55 T-15 3.1




=-U25ekFUv>s@ Tooling by DIJET

BT ﬂ - iﬁﬁ '

9357 TRUKIHE

L ) ¥+ 3% - L
i 8 12 A B © D E a l:j‘j 3? ;E(Ntr:'n)g
ESW-410 53 | Max07 | 100 | 27 | — | 5 | T15 | 31
= = ESW-412 53 | Max07 | 120 | 27 | — | 5 | T15 | 31
@ M= ESW-507 68 | M5x08 | 75 | 34 | — | 55 | T2 | 55
D ESW-508 68 | M5x08 | 82 | 34 | — | 55 | T2 | 55
ESW-510 68 | M5x08 | 100 | 34 | — | 55 | T25 | 55
FSW-2005H | 25 | M2x025 | 50 | 13 | — | 40 | 716 05
FSW-2506H | 30 | M25x035 | 66 | 15 | — | 40 | T7 09
FSW-3007H | 38 | M3x035 | 81 | 20 | — | 40 | T8 12
@c@j FSW-3500 | 47 | M35x06 | 96 | 23 | — | 40 | T10 | 20
.M FSW-4013 | 58 | M4x07 | 185 | 33 | — | 40 | T15 | 30
c FSW5016 | 68 | M5<08 | 164 | 32 | — | 40 | T20 | 40
FSW-6020 | 85 | M6x1.0 | 200 | 43 | — | 40 | T80 | 50
FSW-8025 | 110 | M8x125 | 250 | 55 | — | 40 | T40 | 60
HSW-614H | 100 | Mex10 | 150 | 7.3 | — | 60 | T30 | 75
TSW-2250 | 31 | M22x045 | 50 | 23 | — | 60 | T7 06
TSW-2556H | 36 | M25x045 | 56 | 27 | — | 60 | T8 09
TSW-2567H | 36 | M25x045 | 67 | 27 | — | 60 | T8 09
TSW-3510H | 53 | M35x06 | 100 | 45 | — | 60 | T15 | 21
TSW-3512H | 53 | M35x06 | 115 | 45 | — | 60 | T15 | 21
TSW-408 55 | M4x07 | 80 | 33 | — | 60 | T15 | 31
TSW-511 70 | M5x08 | 110 | 50 | — | 60 | T20 | 55
TSW-612 85 | Mex1.0 | 120 | 48 | — | 60 | T25 | 75
TSW-614H | 85 | Mex10 | 140 | 62 | — | 60 | T25 | 75
@Et $4513P 67 | M45x075 | 130 | 35 | — | 55 | 20P | 50
ol

tyhRILNRE

% s & RS | =MLY
7 S i A B c D E F B1Z | (N'm)
e s
Hess1 HCS4-10 70 | M4x07 | 140 | 40 | 30 | — — —
Rl =
Dl HCS5-10 85 | M5x08 | 150 | 50 | 40 | — — —
E_| | C ‘
WHSB-10

HSB-10 17.0 M10x1.5 56.0 10.0 8.0 13 — —

I =C
E c ‘ HSB-12 18.0 M12x1.75 62.0 12.0 10.0 — — —

Y LRIV

" s R RS1T [N LY
i i A B c D E F HA4ZX | (N'm)
SSwe4 5 M3x0.5 10.0 2.0 2.0 — — 1.2
D SSW-535 6.3 M5x0.5 7.0 3.1 3.5 — — 6.5
e

SSW-745 8.4 M7x0.5 8.0 2.9 45 — — 8.0




Tooling by DIJET =-Y>5&FUvIstE

e nE = iﬁﬁ ‘

Iy IRAIVU1—iRE

e » g & RSATJ |#ERNLS
i X E & A B c D E F HA4ZX | (N'm)
Ls-1 46 | Mex10 | 220 | 85 | 85 | 30 — 6.0
Ls-101 46 | Mex10 | 160 | 65 | 65 | 30 — 6.0
LS-106 46 | MBx10 | 145 | 65 | 50 | 30 — 6.0
Ls-107 46 | Mx10 | 130 | 50 | 50 | 30 — 6.0
LS-109 55 | M7x075 | 190 | 75 | 80 | — | T-25 7.0
LS-110 48 | M6x075 | 220 | 80 | 80 | — | T-15 6.0
LS-180 60 | M8x10 | 190 | 70 | 80 | — | T7 8.0
LS-182 60 | M8x10 | 170 | 70 | 60 | — | T27 8.0
LARNKRY VROV 21—
S » g & RSAT |#ERNLY
R B & A B c D E E H4ZX | (N'm)
EE
ﬁ Ls-113 37 |No10-32UNF| 102 | 45 | 41 | 24 — —
D " E
= C
IS5 VTATVU1—E
P ’ ¥ & RSAT |#ENLY
e R & A B c D E E H4Z | (N'm)
SLS-3 60 | M8x10 | 200 | 80 | 80 | 40 — 8.0
% % % & ¥ A KS4THAX
A B C D E
LW-015 465 14.0 — — 15 —
LW-020 52.0 15.0 — — 2.0 —
LW-025 59.5 18.0 — — 25 —
A LW-030 67.0 20.0 — — 3.0 —
o# LW-035 715 225 — — 35 —
© w LW-040 75.0 25.0 — — 40 —
LW-045 80.5 27.0 — — 45 —
LW-050 80.0 28.0 — — 5.0 —
LW-120 137.0 45.0 — — 12.0 —
LW-140 154.0 56.0 — — 14.0 —
D B
o 7\ ‘ﬁ* A-030 — 60.0 80.0 28.0 3.0 —
©)]
A-07SD 40 60.0 80.0 — — 17
3 A-08SD 40 70.0 80.0 — — T-8
'@%E* | A-10SD 40 70.0 95.0 — — 710
c B A-20SD 5.0 90.0 105.0 — — T-20
A-25SD 5.0 100.0 105.0 — — T-25
DB A-06 17 345 15.0 15.0 - T-6
T
J ﬁﬁ- A-07 20 345 15.0 159 — 7
1 s A-08 23 39.0 19.0 19.0 — T-8




=S-U25eFUYJSE Tooling by DIJET

LoFHg
B BB R RSATHALZ
A B c D E
D B A-10 3.0 40.0 40.0 20.0 — T-10
o 1 A-15 35 45.0 40.0 20.0 — T-15
| \ | 3 A-20W 4.0 45.0 40.0 20.0 — 7-20
o . A-15T 40 100.0 80.0 26.0 — 715
A-20 40 100.0 100.0 32.0 — 7-20
// - A-20L 55 200.0 100.0 32.0 — 7-20
o A-25 45 100.0 100.0 32,0 — T-25
A-27 55 100.0 100.0 32.0 — T-27
o A-30 6.0 100.0 100.0 32.0 — 7-30
A-40 7.0 100.0 100.0 32.0 — T-40
AP-20 4.0 100.0 100.0 32.0 — 201P
= 5 AD-1845 18 45.0 — - - —
Ee=Ea————{S | AD-2080 20 450 | 350 — — —
I ELLHRURE
P ” ¥ & RSAT |#ENLY
2 s i A B c D E E HA4ZX | (N'm)
ﬁ?: LSM-512 — M5x1.0 12.6 1.0 3.0 25 — —
F
MLO R T ELIESHRURE
5 g ” ¥ & RSAT | MUY
R ¥ & A B c D E E 42X | (N'm)
B
@ ) RSW-05008 | — | M5x08 | 80 | — | — | — | T10 —
Lc]
95 TEyMRIg
o ., &+ A RS
A s & A B © D E F G FA4X
F
P 1
% o DCM-1 M5x0.8 | 138 | 138 | 6.8 2.0 8.5 25 —
w G
C
® @ DCM-5 M6x1.0 | 170 | 165 | 89 20 | 100 | 30 —
Al
rix
Jr@dEy o DCM-17 M45x075 | 117 | 180 | 105 | 50 | 100 | — T-20
&7 |
C
m_(_tjﬂ DCM-18 M3.5x0.6 | 100 | 130 | 76 3.0 72 — T-15
A




Tooling by DIJET =

VT FUYIT R

BT

% i % & Y s
A B © D E =
-
w \\(> o
A DCM-2 MBX10 | 100 19.0 1.0 6.0 135
" -
Ne=P)) T
95Ty —iRg
% i % & El
A B © D a’ B’
o3 HEle
CW-11 80 5.0 1.0 40 55 12
PR




=-U25ekFUv>s@ Tooling by DIJET

b 30 BB
9% JISHRIELH 5= 9% JISHHE B i
BB S SM CxxxxP
| P SRB WRUOREEDRRUSE CxxxxPP
0S| —mmsmEEei SS . CxoeR
—iEsARERH SSC CxxxxBD
BB ERERREEEEMRROEE | SAPH FERUTEaSE CxxxxBDS
SPCC, SPCT CxxxxBE
~ ARSI R OB SPCD, SPCE FIE—OLROTIS—DLEED | AP
%ﬁ%’i SPCF, SPCG RRUE AXXxPC
N SPHC, SPHD AxXXBE
RHMEERRIRE TR SPHE, SPHF Zgi AxxxxBES
RERRARNE SGP S | PVSSOLRUTLSZOLAED | AoxBD
S 5% E = e b= STB FILS | BRUR AxxxxBDS
BEAZABZARE RS STH ZA'ﬁ.IA AxxxxW
—iESARREEE STK EE{IW " AxxxxW$S
B ERRREEE STKM FIE=OLRO7IVE =D LESBEIM | AcoxS
g ERERMEE SCr-TK, SCM-TK o= = e | AXXXXFD
HE | WRRSAAT YL AEEE SUS-TK PWEEOLROTIS=OLEREER |\ oy
—BBERATEE STKR 2oRIh RIRTD LGSR MP
RERaSEmE STPA BRBEH] v ORUY LESE MB
RS RRREEE STPG =l | ST VRO =T I a Rk U%R NCuP
= RS AR RS STPT B8 | —urLRUZvTILESE NCuB
BERERRREEE STS 75 A TBxxH
BT EHE SUS-TP Rl |00 ORUTIVERRE TBXxXC
B R SXxC, SXXCK ARUTHEEHY CACYXX
ﬁgg FIVE=OLIOLEITF V@M | SACM Sy CACXOXC
= SCM, SCr PILVEZOLEEHY ACxx
BRSERASEEY SNC, SNCM gy | XIRVOLARHY MCx
SMn, SMnC BINEEIANAR ZDCx
T | BoRLEmEH SK FILEZOLESIAHAR ADCx
B |aaTa@E®En SKS, SKD, SKT RIRIILEEIANAR MDCx
B mmETamE SKH ROARAZ )L WJx
m,, | RERUHEESREERT SUM
15| 2 5 | AR OLuEREY SuJ
Zé W7 Zrammi SuP
g Z|z7ozae SUS-B
il 07 | MEEERT VU2 BIRRUHE SUS-HP, SUS-HS
2 [ ABmERF L AR RS SUS-CP, SUS-CS
REEE SUF-B, SUF-CB
| maER SUF-HP, SUH-CP
B | AmREaSE NCF-B
2 | MemmEasR NCF-P
P T SF
WM | JOLEUT T EBER SFCM
—vr ILIOLEUTT VREmR SFNCM
T HHEHE FC
IR ESAE T FCD
ek FCMB
BT FCMW
FCMP
P Lo SC
BERS R RRROESSEHEE | SCC
g | A7 YUAEHER SCS
MiEAE S SCH
BN RS SCMnH
SEsEA%ER SCPH




===
= 0
EISE Ak R4 ERSERY VA VRAMRUY V1Y o0 LRER
B USA Ry B USA R
JIS AISI/SAE W.-nr DIN JIs AISI/SAE W.-nr DIN
S10C 1010 1.0301 Cc10 SMn420 1522 — —
S15C 1015 1.0401 Cc15 SMn433 1536 — —
S20C 1020 1.0402 c22 SMn438 1541 — —
S25C 1025 1.0406 c25 SMn443 1541 — —
S30C 1030 1.0528 C30 SMnC420 — — —
S35C 1035 1.0501 C35 SMnC443 — — —
S40C 1040 1.0511 C40
S45C 1045 1.0503 C45 E‘Eﬁlﬂﬂﬂﬂﬁﬂ
S50C 1049 1.0540 C50
S55C 1055 10535 c55 Jis AISI/SAE W.-nr DIN
S58C 1060 1.0601 C58 SKi1 W1-13 — —
SK2 Wi1-11 1/2 — —
— SK3 W1-10 1.1545 C105W1
—w& b0 LM ka4 W19 — —

JIS AISI/SAE W.-nr DIN SK5 W1-8 1.1525 C80W1
SNC236 3135 1.5710 36NiCré6 SK6 W1-7 1.1525 C80W1
SNC415 3415 1.5732 14NiCr10 SK7 — 1.1620 C70W2
SNC631 — — —

SNC815 3310 1.5752 14NiCr14 EEEIEW%*I
SNC836 — — —

JIs AISI/SAE W.-nr DIN
— — SKH2 T — —
—yF IV OLEYTF VM Kiis o = -

JIS AISI/SAE W.-nr DIN SKH10 T15 _ _
SNCM220 8620 1.6523 21NiCrMo2 SKH51 M2 1.3343 S6-5-2
SNCM240 8640 1.6546  |40NiCrMo22 SKH52 M3-1 — —
SNCM415 — — — SKH53 M3-2 1.3344 $6-5-3
SNCM420 4320 — — SKH54 M4 — —
SNCM439 4340 1.6582 35CrNiMo6 SKH56 M36 — —
SNCM447 — — —

SNOM630 | — - - a2 T RIREH
SNCM815 — — —
JIs AISI/SAE W.-nr DIN
SKS11 F2 — —
20 L##i+2 SKS51 6 — —

JIS AISI/SAE W.-nr DIN SKS43 W29 1/2 _ _
SCr415 5015 1.7015 15Cr3 SKS44 w2-8 1/2 — —
SCr420 5120 1.7020 20Cr4 SKD1 D3 1.2080 X210Cr12
SCr430 5130 1.7033 34Cr4 SKD11 D2 1.2379 | X100CrMoV5
SCr435 5132 1.7034 37Cr4 SKD12 A2 1.2363 X100CrMoV5 1
SCr440 5140 1.7045 42Cr4 SKD2 — 1.2436 | X210CrwW12
SCr445 5147 — — SKD5 H21 1.2581 X30WCrv9

SKD61 H13 1.2344 | X40CrMoV5
HOLEVI 5 .

JiS AISI/SAE Wo-nr DIN AT YVAM(TI51MF)

SCM415 — 1.7262 15CrMo5 JIS AISI/ASTM W.-nr DIN
SCM420 — — — SUS405 AISI 405 1.4724 X6CrAl13
SCM430 4130 1.7218 25CrMo4 SUS429 AISI 429 — —
SCM435 4137 1.7220 34CrMo4 SUS430 AISI 430 1.4742 X6Cr17
SCM440 4140 1.7223 41CrMo4 SUS430F | AISI 430F 1.4104 |X12CrMoS17
SCM445 4145 — — SUS434 AIS| 434 — —




=-U25ekFUY>sE Tooling by DIJET

RiTE

ATFVLARMEILFIHA R R) HEM (o 5+ +R)

B% USA R EES USA R

JIS AISI/ASTM W.-nr DIN JIs AISI/ASTM W.-nr DIN
SUS403 AlSI 403 — — SUH21 — — CrAl1205
SUS410 AISI 410 1.4006 X10Cr13 SUH409 AISI 409 1.4512 X6CrTi12
SUS416 AISI 416 — — SUH446 AlS| 446 — —

SUS420J1 AISI 420 1.4034 X20Cr13
SUS420F AISI 420F — — =
SUS431 AISI 431 1.4057 X20CrNi172 maﬁm(?”lj-/v{ b%)
SUS440A AISI 440A _ _ JIS AISI/ASTM W.-nr DIN
SUS440B AlSI 440B — — SUH1 — — —
SUS440C AISI 440C — — SUH3 — — —
SUH4 — — —
=~ = SUH11 — — _
ATFIUVAR (A —27F 41 +F) SUH600 | ASTM 616 — —

JIS AISI/ASTM W.-nr DIN
SUS201 AISI 201 — — - =
SUS202 | AISI 202 — - LAy oy
SUS301 AISI 301 _ — JIS AISI/SAE W.-nr DIN
SUS302 AISI 302 — — FC100 20 0.6010 GG 10

SUS302B AISI 302B — _— FC150 25 0.6015 GG 15
SUS303 AlSI 303 1.4305 | X10CrNiS189 FC200 30 0.6020 GG 20
SUS303Se | AISI 303Se — — FC250 35 0.6025 GG 25
SUS304 AISI 304 1.4301 X5CrNi1810 FC300 40 0.6030 GG 30
SUS304L AISI 304L 1.4306 X2CrNi1911 FC350 50 0.6035 GG 35

SUS304NI | AISI 304N — —

SUS305 AISI 305 1.4303 [X5CrNi1812

SUS308 | AISI308 — — FRIAR SRR R i

SUS309S AIS| 309S _ _ JIS AISI/SAE W.-nr DIN
SUS310S AISI 310S _ _ FCD400 60-40-18 0.7040 GGG 40
SUS316 AISI 316 1.4401  |X5CrNiMo17122 FCD450 60-40-8 0.7045 GGG 45
SUS316L | AISI 316L — X2CrNiMo17132 FCD500 65-45-12 0.7050 GGG 50
SUS316N AISI 316N 1.4404 _ FCD600 80-55-06 0.7060 GGG 60
SuUS317 AISI 317 1.4438  |X2CrNiMo18164 FCD700 | 100-70-03 0.7070 GGG 70
SUS317L | AISI317L 1.4438  |X2CNiMo18164

SUS321 AISI 321 — —

SuUS347 AISI 347 1.4550 | X6CNiNb1810

SUS384 AISI 384 — —
THZAsR

Jis AISI/ASTM W.-nr DIN

SUH31 — — —

SUH35 — — —

SUH36 — — —

SUH37 — — —

SUH38 — — —

SUH309 AISI 309 — —
SUH310 AISI 310 1.4845 CrNi2520
SUH330 AISI 330 — —




EE/SSIEFHNDRERK

(JISE#/\> BT v & KD HR#E)

1 DOEHFDSIIC KB EAL

N kef dyn
1 1.01972x10™" 1%x10°
9.806 65 1 9.806 65%10°
1x10° 1.019 72x10°° 1
77w ] 1Pa=1N/m? 1MPa=1N/mm?
PaX[&N/ma2 MPaX[EN/mm2 kegf/mmz2 kgf/cmea kgf/m2
1 1x10° 1.01972%x107 1.01972x107° 1.019 72x10™
1x10° 1 1.019 72x10™" 1.01972%x10 1.019 72%10°
9.806 65%10° 9.806 65 1 1X10° 1x10°
9.806 65%10* 9.806 65%107° 1x107? 1 1x10*
9.806 65 9.806 65%10°° 1x10° 1x10™* 1
EA 1Pa=1N/m?
Pa kPa Mpa bar kgf/cmea
1 1x10°° 1x10°° 1x107° 1.01972x107°
1x10° 1 1x107° 1x107° 1.01972x107°
1x10° 1x10° 1 1X10 1.01972%x10
1x10° 1%X10° 1x10" 1 1.01972
9.806 65%10* 9.806 65X 10 9.806 65%107° 9.806 65% 107" 1
HE . TRILE— . BB 1J=1W - 5, 1J=1N - m
J kW - h kef - m keal
1 2777 78%1077 1.019 72%10™ 2.38889%x10™

3.600 00x10°

1

3.670 98x10°

8.600 00x 10°

9.806 65

2724 07x10°

1

2.342 70x10°

4.186 05%10°

1.162 79x10°°

4.268 58%10°

1

f15E(TE - ByhH) - B

1W=1J/s, PS: A

W kW kgf - m/s PS kcal/h
1 1x107° 1.01972%10™ 1.359 62x107° 8.600 00x10™"
1x10° 1 1.019 72x10° 1.359 62 8.600 00x10°
9.806 65 9.806 65%x10°° 1 1.33333%107* 8.433 71
7.355%10° 7.355%10™" 7.5%x10 1 6.325 29%10°
1.162 79 1.162 79%x10°° 1.18572x10™" 1.580 95X 107° 1
EbEh e
J/ (kg - K) kcal/(kg-C), cal/(g:C) W/(m - K) kcal/(h - m - C)
1 2.388 89x10™* 1 8.600 00x10™"
4.186 05%10° 1 1.162 79 1
ElE5ERE
min~' s™! r.p.m.
1 0.0167 1
60 1 60




=-U25ekFUv>s@ Tooling by DIJET

(1D >
eirEs EE-‘:Z‘Iﬁi
MoEyh—RABEICH T HiELIMNIRE(E
E | JuxUge B £ | JuRUEE 5
v 108 OwooT)LEes 3 v 108 Ovo9T )L 3
7| mE3000Kef 7 | gamas | | 7 |@E3000kef 7 | 3pEm
2 | ® [597 [ AZRZ—)v | BRT—IL | CRr—IL E GfblE) 2 | & [599[ Azr—u [ BRZ—IL | CRo—IL E (GEblE)
B | 4 |27 |W@E6OKef HE]00kef HE150ke! LR B | 4 |7 |WEEOKef %] O0kef HE150ke! MPa
= A=IC| SRR | 16 |SAPEUNGH (kef/?) = DN | STENEE | R16 | SOVEURDE (kef/?)
® O\ | EF (/160K EF ®O|qKR | EF (160 EF

HY HB | HRA HRB HRC | HS HV HB | HRA HRB HRC | HS
19000 - | - | 93.1 - 805 | - - 4201397 [ 397 | 71.8 - 42.7 | 57 1370 (140)
18000 - | - | 926 - 792 | - - 410| 388 | 388 | 71.4 - 48 | - |1330 (136)
17000 - | - | 919 - 779 | - - 400|379 | 379 | 70.8 - 40.8 |55 1290 (131)
16000 - | - | 913 - 766 | - - 390|369 | 369 | 70.3 - 39.8 | - [1240 (127)
15000 - - 90.5 - 753 - - 380| 360 | 360 69.8 | (110.0) | 38.8 | 52 |1205 (123)
1450 - | - | 90.1 - 746 | - - 370| 350 | 350 | 69.2 - 37.7 | - [1170 (120
1400, - - 89.6 - 74.0 - - 360| 341 | 341 68.7 | (119.0) | 36.6 |50 [1130 (115)
13500 - | - | 89.1 - 734 | - - 350| 331 | 331 | 68.1 - 355 | - |1095(112)
13000 - | - | 887 - 727 | - - 340|322 | 322 | 676 | (108.0) | 34.4 |47 1070 (109)
1250 - | - | 883 - 721 | - - 330|313 | 313 | 67.0 - 33.3 | — [1035(105)
12000 - | - | 87.9 - 715 | - - 320|303 | 303 | 664 | (107.0) | 32.2 |45 |1005 (103)
1150, - - 87.5 - 70.9 - - 310| 294 | 294 65.8 - 31.0 — 1980 (100)
1000 - | - | 87.1 - 703 | - - 300| 284 | 284 | 652 | (1055) | 29.8 |42 | 950(97)
105 - | - | 866 - 696 | - - 295| 280 | 280 | 64.8 - 292 | — | 935(96)
10000 - | - | 862 - 689 | - - 290|275 | 275 | 645 | (1045) | 285 |41 915(94)
90| - | - | 856 - 68.0 |97 - 285|270 | 270 | 64.2 - 278 | — | 905(92)
920| - - 85.3 - 675 |96 - 280| 265 | 265 63.8 | (103.5) | 271 40 | 890 (91)
900 - | - | 850 - 67.0 |95 - 275| 261 | 261 | 635 - 264 | — | 875(89)
880| - |(767)| 847 - 66.4 |93 - 270| 256 | 256 | 631 | (102.0) | 25.6 |38 | 855(87)
860 - |(757)| 84.4 - 659 |92 - 265| 252 | 252 62.7 - 24.8 — | 840 (86)
840| - |(745)| 841 - 65.3 | 91 - 260| 247 | 247 | 624 | (101.0) | 24.0 |37 | 825(84)
820| - |(733)| 83.8 - 64.7 |90 - 255| 243 | 243 | 62.0 - 231 | — | 805(82)
800| - |[(722)| 83.4 - 64.0 |88 - 250|238 | 238 | 616 | 995 | 222 |36 795(81)
780 - |(710)| 83.0 - 63.3 |87 - 245 233 | 233 61.2 - 21.3 - | 780 (79)
760| - |(698) 82.6 - 62.5 |86 - 240| 228 | 228 | 60.7 | 98.1 20.3 | 34 | 765 (78)
740| - |(684)| 822 - 61.8 |84 - 230| 219 | 219 - 96.7 | (18.0) | 33| 730 (75)
720| - |(670)] 81.8 - 61.0 |83 - 220 209 | 209 - 950 | (15.7) | 32 | 695 (71)
700 - |(656)| 81.3 - 60.1 81 - 210] 200 | 200 - 93.4 (13.4) | 30 | 670 (68)
690| - |(647)| 81.1 - 59.7 | - - 200| 190 | 190 - 915 | (11.0) |29 | 635 (65)
680| - |(638)| 80.8 - 59.2 |80 - 190| 181 | 181 - 89.5 (8.5) | 28| 605(62)
670 - | 630 | 80.6 - 58.8 | - - 180| 171 | 171 - 87.1 (6.0) | 26 | 580 (59)
660 — | 620 | 80.3 - 583 |79 - 170| 162 | 162 - 85.0 | (3.0) |25 545 (56)
650, - | 611 | 80.0 - 57.8 | - - 160| 152 | 152 - 817 | (0.0) |24 | 515(53)
640 - |601| 79.8 - 573 |77 - 150| 143 | 143 - 78.7 - | 22| 490 (50)
630 - |591| 795 - 56.8 | - - 140| 133 | 133 - 75.0 - |21 455 (46)
620 - |582| 792 - 56.3 |75 - 130| 124 | 124 - 71.2 - |20 425 (44)
610, - | 573 78.6 - 55.7 - - 120| 114 | 114 - 66.7 390 (40)
600| - | 564 | 789 - 552 | 74 - 110| 105 | 105 - 62.3
590| - | 554 | 78.4 - 547 | - |2055(210)| |100| 95 | 95 - 56.2
580| - | 545 | 78.0 - 541 | 7212020 (206)| | 95| 90 | 90 - 52.0
570 - |535| 77.8 - 536 | - |1985(202)| | 90| 86 | 86 - 48.0
560| - | 525 | 77.4 - 53.0 |71 /1950 (199)| | 85| 81 | 81 - 41.0
550|(505)| 517 | 77.0 - 52.3 | — |1905 (194)
540|(496)| 507 | 76.7 - 51.7 | 69 |1860 (190) 1. ZOEIE JISEEANRT YD EHRL DD THB,
5301 (488)| 497 76.4 - 51.1 - (1825 (186) 2. 1MPa=1N/mm

3. F () NBIERHEEVSUEVEEDLDTH)
520|(480)| 498 | 76.1 - 505 |67 |1795 (183) SELLTRLEBD THS,
510|(473)| 479 | 75.7 - 498 | - 1750 (179)
5001(465)| 471 | 753 - 49.1 | 66 1750 (174)
490 (456)| 460 74.9 - 48.4 - [1660 (169)
480| 448'| 452 | 745 - 47.7 | 64 1620 (165)
470 441 | 442 | 741 - 46.9 | - |1570 (160)
460| 433 | 433 73.6 - 46.1 62 {1530 (156)
450| 425 | 425 | 733 - 453 | - |1495 (153)
440| 415 | 415 | 7238 - 445 |59 1460 (149)
430| 405 | 405 | 723 - 436 | - |1410 (144)




SRR AN
] LLIBZ KE BA - = T .
1] .
S%E | JISHEE |AISIHEN|| B2 R | IS | SR BHiIgRE AT TILL h—>
HETEH | SK105 W1-10 K3 K3 YK3 k990
SKS93 SK301 QK3M YK30 Kam YCS3
SKS3 SKS3 KS3 GOA Ks3 SGT ARNE K460
SKD1 D3 SKD1 act DCt KD CRD CDST1 | SVERKER3 | K100, K107
SKD11 D2 SKD11 actt DCt1 KD11 SLD MD59 | SVERKER21 | K105, K110
SKD11 () AUDT5 acnz DC53  |KD11S,KD21|  SLD8 SLEIPNER K340
AUDA1 QacMm8
ehCrSKD ARK1
SKD12 A2 DC12 KD12 RIGOR K305
TUN—K>
COHROLLE GO40F KAP65 | HPM-MAGIC IMPAXHH
Py
=
% FUN—R
& |40HRC
&
VCLIN SX105V,SX4|  QF3 G05 FH5,KRCX |  HMDS FERMO
ERZ44E G04 KSM ACD37
& AKS4 QF1 655 KTV5 YSM
CALDIE
CALMAX
SXACE SLD10 ELMAX K390
Z0ft AUD11 DCMX NOGA | sLD-magic | 0S22 | VANADISG K890
VANADIS10
VANCRON40
VANADIS4E
SKH51 M2 QH51 MH51 H51 VXM SKH9 $600
SKH51 % SKHOD,DURO-X S705
HM35
SKH55% MH HM35 YXM4
® > HS53M
g HS93R
% SKH57% MH8 MV10 XG5 | e $700
T
8
& DURO-F1
DRMH KX YXR33 | DURO-F3
2Ry TR T QHZ DRM2 KMX2 YXR3 DURO-F7 | CALDEE W360
DRM3 KMX3 YXR7 DURO-v2 | UNIMAX
DURO-V5
SKH40 DEX40 HAP40 FAX38 ASP30 $590
B <2ryysz DEX-M1 HAPSR
x P7AR DEX-M3
8
2
£ SPM23 $290
£l e | oo weo |||
i SPM60 DEX60 HAP72 FAXG2 ASP60 $690
SPMR8 5790




=-U2JekFuv>T®E Tooling by DIJET

BEETENR
\ LIRS KE Bz o — v . =
5 |SKH2 T WH? H2 YHX2 SKH2 $200
9
% |sks T4 WH3 H3 SKH3
2
7 sk T5 WH4 H4 SKH4
® lskHio Ti5 VH10 HV5
SKH5 M2 QHs1 MHS1 H51 YXM1 SKHO $600
SKH52 Mi3-1 MH52 H52
SKH53 M3-2 MHS53 HVA S607
SKH54 M4 MHS54 HV2 HIM4
SKHS5 - MHS5 HM35 YXM4 HM35 $705
£ |SKHS6 M36 MHS6 HM36 HMI36
J
5 |sKHs7 - MH57, MH8 HV10 XVC5 HS93R $700
Z
2 |skss w7 MH7 HM3 HM7 $400
SKH59 M42 MHS59 HM42 YXMA42 HM42 $500
HS97R
HI
MHG4 yXM27 HMIT12
ot - MHG9 870 YXME0 HM33
SKHID
FM38V
|7\ DURO-F1
5 DRMH KMX1 YXR3 DURO-F3
IO e QHz DRM2 KMX2 YXR33 DURO-F7
g DRM3 KMX3 YXR7 DURO-V2
£ DURO-V5
SKH40 SPM30 DEX40 HAP40 FAX38 ASP30 $590
DEX20
15; HAP10 $290
2 om SPM23 DEX60 s FAX31 - oot
ES SPM60 DEXG1 v FAX55 pocee oo
SPMRS DEX-M1 s FAXG2 o
DEX-M3

F) COXRI %] TR22F11BSIVRBLIEDDTT,




TSAFvoSEANR
g |BS | JS | ASI|| ®A | JE | @E e || e | pRal | CBES L ER || B
(HRC)| 8% | A= M | AF—IL| B 545 T 5I5m FE Erl] 7N
KTSM21
13 | SC% | 1055 || AUK1 |JFE-MD1 | KTSM2A | PC55 5[5)1132 a
KTSM22
JFE-MD3
28 |somsz| 4140 || Auktt |JEEMDS | krsmat SD61 | PDS3
SD70 M200
?gﬁ“;' P20 KTSM3M | PCM30 | SD100 | PX5 | KPM30 | HPM7 PN W20t
sD77 M238
71 % lsusz| 420 SSTAR | 4oom | Hpmag | PROVAMO0| oppypy | M303
A D-STAR PROVA-450 M310
E SUSH RAMAX-2
Z e G-STAR HPM77 S
35 |SUST|S17400 QsH6 NAK101 | U630 | PSL CORRAX| N700
SKDG1
K081 13 DH2F | KAPQOF | FDAC
oot PCM40 NAKS5 | KAP65 |HPM-PRO M461
0 PCM40S NAKSO | KAP8S | HPM! M264
ZDOfth P21
(%) CENA1
HPN-MAGIC NIMAX
SLEIPNER
SKD11 Rigor | K100
60 |SEI1| o2 || Auptt acms PD613 | KD21 | HPM31 AoOR | K10
K340
CALDIE
5
A M340
i QPD5 4400 M390
R | 57 Sﬁsof 4400 SPC5 SUS440C SUS440C | PROVA-500 UEW:Q( N685
L (%) (CES) NG9O
| NG5
sUs% S-STAR HPM3B | oo | STAVAX | oo
52 "0 D-STAR Hpw77 | ROV00 poLuax | o1
G-STAR HPM38S MIRRAX
LT V720
I MASTC |KMS18-20| YAG |EXEO-M21
B s LT V721
:
i 0t CORRAX
# e
w |78 NMS1 | HPM75




=-U2JekFuv>T®E Tooling by DIJET

HRIERAN
\ ] LLIB5 R XE BA - — ==y 97 | ao_=
1] = 1] P
D% | JISHEY |AISIHEY|| S5 R | ST | ST SE HiIEE | A= | =Z580 TILL h—>
SKD4 DH4 KD4
SKD5 Ho1 DH5 KD5
SKD6 H11 DH6 KD6 VIDAR mgg
DHA
SKD61 H13 || Skpet | aDet oHny | KDA DAC ORVAR-2M|  W302
SDH3
AUD61 | QDAG1 | SDH4 3:212 KDA1 | DAC3
AUDGOA | ODN | SDHS2 | /woo | KDATS | DAGIO ORVAR-S
DK65 i
SKD61 ()
DH31-S DAC55 W303
SDHA3 | pyy.x | KDAMAX | DRGS0 DIEVAR | 03
=1
2 |skoe2 H12 || skpe2 | QD62 DH62 | KDB
T
E |skp7 H10 DH72 | KDH1 W320
i
DHT71
SKD7 (&) AUD72 | QDH DH73 peca | ouro-ne
DH32
SKD8 H19 DH41 KDF
MDC-K
SKDS8 () DH42 | KDF4 | pacss
SKT4 SKT4A | Q41 GFA KTV DM ALVAR14 | W500
SKT4 (%0 AUDGO | QDT | SDH21 | GF78 | TD3 | YHD28
AUDOT
A B L4 MPH-K DH76 HD22B
DH2F | KAPOOF | FDAC
ZDfth
QF5 | SDH122 | DHA-Thermo
TR W321
EiR |vhus2FR QHz DRMS | Kuxt | vxRa3 | DURO-FI HOmvAn | 360
HE W705

&) ORI 5] TR22F11BSIVRBLILHDTT,




	技術資料

